From Algebra 1 going into Geometry Summer Worksheet 1. (ALL without a calculator). Rev 6/13/17

Simplify. | eave all answers as Improper Fractions. All work must be shown.

1132 2. 71 62 ;0 L1 g 241
4 2 3 5 3 4 3

5.3 9 6. 22 7. L2 g 212 g 12
5 ERRY 5 28 4

9. If 4 times a number is 156, then % of the number is

Solve for the variable.

100 x+13 = -9 11. y-10 = 19 12. 13n = 438

13. % - -8 14. 3x-8=13 15. 8m = m-14

16. 3+5(4dx+B6) = 2x-3 17. 3(7+2n) = 30+7(n—-1)

18. E ﬂ 19. |x—4| -3=5 200 A h(x+y) cforx
15 x 2

21. 60 is what percent of 1507 22 75% of what number is 18757

23. 3 < -3 24, Ty < 35 25. 7-6n < 2n+ 87

26. Kim is 3 years older than John. The sum of their ages is less than 16. What is the oldest
John could be?

Simplify (with no negative exponents).

g3
27 T7TY 28 (5% 29. =L
Xy
(Ap® ) 46
30, iiJ 21 4}(1]?—5 32 Tx i .
| 3p 27x"y
33. (57 -4x+1) - (3X*+7) 34, 35 - 4% + 9x)
Multiply.

35. (2x+5)(2x-5) 36. (dy+T)2 37, (x-9) (2x+3)



Factor.

38. 14y*_8y® + 6y° 39. x*—36 40. 4% -20x + 25
41. x*+8x+15 42, 2% -Tx-4
Solve.
43, x*-x-20 = 0 4. 22 +7x = 15
Graph.
2
45, v = Ex-z 46. x+2y = 16
Solve by Substitution. 47, x-3y = 4
X-y =7
Solve by Elimination. 48, X +6y = 6
k- 2y = 14
Simplify.
49 432 50. 3450 51 24/8 (3410)
52 |2 5. o 54, ﬁ
12 Jé J6
55. W12 + 318

Continued on to next page......



From Algebra 1 going into Geometry Summer Worksheet2. (ALL without a calculator). ey 6/13/17

Simplify. | eave all answers as Improper Fractions. Al work must be shown.

1. 2l+§ 2. 9%+’,’rl 3. §£+3 4. i—B
3 3 4 4 7 ] 7
5. 2(13) 6. E:i 7 2.2 q u_11+1
9 g8 .7 5 15 3
9. If a third of a number is 14, then 2 times the number is
Solve for the variable.
10. 2x-11 = 29 11. 8-3n = 35 p 4. _1
5 3 (4]
13. %}' = 24 14. 4(3n+2)=44 15, MH-6-Tx =12-2x + 6
16. 2(y+3)—3y = 5-y+ 1 17. i(8n+4) 17 - _%(4:._3)
18, 2 - X1 19. 2|y-7| -5 = 11 20. V = Lar; forr
3 x+5 2
21. 96 is what percent of 1507 22 45is 90% of what number?
2 x 2
23. 5(12-3n) = 15(n+ 4) 24, 17-6y = -13 25, 73 < 3

Continued on to next page.........



26. Your quiz grades are 73, 75, 89, and 91. What is the lowest grade you can obtain on the
last quiz and still achieve an average of at least 857

Simplify (with no negative exponents).

1.4

27, 95(9%3) 28, (3x%yné) 29. ['2"‘}“
2> )

244 -2 2_+0
0. BY) 3. X 3. (xn
33},6 40nx 4y—:-

33. (5n*-3n%-6n) - (-2n*+7n) 34, By (4y*- 5y° + 9yF)

Multiply.

35. (6x-5)(3x+8) 36. (9x-7)(9x+7) 37. (8n-3)?

Factor.

38. 49y — 81 39. 49x°-84x + 36 40. 63n*-17n-20

41. 5 -26x+5 42 A4y 4y 15

Solve.

43. 2% +25x+63 = 0 44, 12%°-35 = -13x

Graph. 45 Ax-5y = 10

Solve by Graphing. 46, 3Ix-y =6 47 x =4

22—y =1 X—y =

Simplify.

48, /9x° 49. 725y’ 50. 2x +/50%*

51 f12x'y? \f3x’y" 52, % 53 2424 — 554
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